Economics 11 - Summer 2009PRIVATE 

Mid-term II

Please answer all three questions below.  To receive full credit you must show any work you do to arrive at an answer.  All graphs must be completely labeled.  Good Luck!!

1.
Fred's Frankfurter Factory makes hotdogs utilizing labor as the chief input.  Due to a substantial loan that Fred took out, the firm must pay capital costs of $100 per day.  Fred must pay his workers $60/day.  Ignoring all other costs, use the information below (daily employment and production) to construct Fred's Average Total Cost (ATC), Marginal Cost (MC) and Average Variable Cost (AVC).




Labor (#/day)
        Daily Output
AVC
   ATC       MC




  0

   0





  1

   6





  2

  18





  3

  36





  4

  48





  5

  54





  6

  54

a.
If the price that Fred faces is fixed at $10 (in other words, this is a perfectly competitive market), where is the profit-maximizing output?

2.
Due to recent over-production in foreign markets, the price of soybeans has fallen.  Farmers, who used to be making economic profits, are now facing potential losses (depending on how far down the price falls).  Illustrate the price, quantity, profits (or losses) for a typical farmer when:



a.
economic profits are zero



b.
farmers are losing money, but rationally decide to stay open.



c.
farmers are indifferent between opening and closing



d.
all farmers should shut down.


You must draw four separate graphs.











NEXT->

3.
The numbers below represent the labor input and resulting output (in dozens) for Betty's Bagel Bakery:





Labor Input

Output





0

   0






1

  30

 






2

  80






3

 150





4

 200







5

 230







6

 210






7

 210

a.
Calculate the average and marginal products


b.
Identify regions I, II and III (you can do this numerically or graphically if you use these specific numbers)


c.
What causes marginal product to rise in region I?



What causes it to fall in region II?


d.
Where would Betty choose to produce?  Explain why.

